

County Distribution Detail Report through 06/30/2023

Aurora

Aurora									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	872	2,093	27	2,992	\$3,740.00	\$89.21	\$3,650.79	0.70	\$2,555.55
							Entity Tota	ıl:	\$2,555.55
							Adjustmen	t:	\$0.00
							Total Amor	unt:	\$2,555.55
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	2,998	11,269	352	14,619	\$18,273.75	\$390.86	\$17,882.89	0.70	\$12,518.02
							Entity Tota	ıl:	\$12,518.02
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$12,518.02
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	821	1,269	4	2,094	\$2,617.50	\$57.97	\$2,559.53	0.70	\$1,791.67
							Entity Tota	ıl:	\$1,791.67
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,791.67
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	1,527	4,233	86	5,846	\$7,307.50	\$147.73	\$7,159.77	0.70	\$5,011.84
							Entity Tota	ıl:	\$5,011.84

Adjustment:

\$0.00

Total Amount:	\$5,011.84
i otai Ailioulit.	ΨΟ,ΟΙΙ.Ο-

Broo	kings
DIOU	niiiyə

J									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	8,694	23,283	1,400	33,377	\$41,721.25	\$870.61	\$40,850.64	0.70	\$28,595.45
							Entity Tota	al:	\$28,595.45
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$28,595.45
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	7,650	28,342	1,059	37,051	\$46,313.75	\$1,009.58	\$45,304.17	0.70	\$31,712.92
							Entity Tota	al:	\$31,712.92
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$31,712.92
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	2,094	4,023	172	6,289	\$7,861.25	\$158.79	\$7,702.46	0.70	\$5,391.72
							Entity Tota	al:	\$5,391.72
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,391.72
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	518	489	1	1,008	\$1,260.00	\$25.22	\$1,234.78	0.70	\$864.35
							Entity Tota	al:	\$864.35
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$864.35
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	1,968	7,061	143	9,172	\$11,465.00	\$247.16	\$11,217.84	0.70	\$7,852.49

							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$7,852.49
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	575	1,417	25	2,017	\$2,521.25	\$57.78	\$2,463.47	0.70	\$1,724.43
							Entity Tota	al:	\$1,724.43
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,724.43
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	2,228	5,835	14	8,077	\$10,096.25	\$203.79	\$9,892.46	0.70	\$6,924.72
							Entity Total	al:	\$6,924.72
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,924.72
City of Box Elder, Me	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	39	3,091	113	3,243	\$4,053.75	\$81.60	\$3,972.15	0.70	\$2,780.51
							Entity Total	al:	\$2,780.51
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,780.51
City of North Sioux (City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	525	3,158	79	3,762	\$4,702.50	\$111.00	\$4,591.50	0.70	\$3,214.05
							Entity Tota	al:	\$3,214.05
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,214.05
City of Pierre, Hughe	es Co.								

Entity Total:

\$7,852.49

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	2,952	11,796	492	15,240	\$19,050.00	\$395.53	\$18,654.47	0.70	\$13,058.13
							Entity Tota	ıl:	\$13,058.13
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$13,058.13
City of Sioux Falls, L	_incoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	3,846	29,411	3,750	37,007	\$46,258.75	\$975.64	\$45,283.11	0.70	\$31,698.18
							Entity Tota	ıl:	\$31,698.18
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$31,698.18
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	1,054	2,534	45	3,633	\$4,541.25	\$99.09	\$4,442.16	0.70	\$3,109.51
							Entity Tota	ıl:	\$3,109.51
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$3,109.51
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	1,394	8,052	252	9,698	\$12,122.50	\$272.94	\$11,849.56	0.70	\$8,294.69
							Entity Tota	ıl:	\$8,294.69
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$8,294.69
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	5,673	21,120	666	27,459	\$34,323.75	\$751.74	\$33,572.01	0.70	\$23,500.41
							Entity Tota	ıl:	\$23,500.41

							Adjustmer Total Amo		\$0.00 \$23,500.41
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

00.00									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	861	1,037	380	2,278	\$2,847.50	\$58.87	\$2,788.63	0.70	\$1,952.04
							Entity Tota	ıl:	\$1,952.04
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,952.04
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	2,850	6,659	55	9,564	\$11,955.00	\$270.65	\$11,684.35	0.70	\$8,179.05
							Entity Tota	ıl:	\$8,179.05
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$8,179.05
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	3,849	15,147	604	19,600	\$24,500.00	\$515.50	\$23,984.50	0.70	\$16,789.15
							Entity Tota	ıl:	\$16,789.15
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$16,789.15
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	1,632	3,746	81	5,459	\$6,823.75	\$141.05	\$6,682.70	0.70	\$4,677.89
							Entity Tota	ıl:	\$4,677.89
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$4,677.89
Deuel									

VOIP

Lines

Total Lines

Surcharge

Admin Fee

Net Surcharge

Entity

Percent

Entity Amount

Wireless Lines

Reporting Period

Telecom Lines

5/2023	1,327	3,172	104	4,603	\$5,753.75	\$119.76	\$5,633.99	0.70	\$3,943.79
							Entity Tota	al:	\$3,943.79
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,943.79
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	1,015	2,238	9	3,262	\$4,077.50	\$85.83	\$3,991.67	0.70	\$2,794.17
							Entity Tota	al:	\$2,794.17
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,794.17
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	1,030	3,021	57	4,108	\$5,135.00	\$104.78	\$5,030.22	0.70	\$3,521.15
							Entity Tota	al:	\$3,521.15
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,521.15
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	2,539	5,092	36	7,667	\$9,583.75	\$196.00	\$9,387.75	0.70	\$6,571.43
							Entity Tota	al:	\$6,571.43
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,571.43
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	626	1,584	22	2,232	\$2,790.00	\$56.25	\$2,733.75	0.70	\$1,913.63
							Entity Tota	al:	\$1,913.63
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,913.63

C	ra	nŧ	
	14		

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	1,533	5,663	243	7,439	\$9,298.75	\$217.08	\$9,081.67	0.70	\$6,357.17
							Entity Tot	al:	\$6,357.17
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,357.17
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	1,411	3,621	9	5,041	\$6,301.25	\$145.73	\$6,155.52	0.70	\$4,308.86
							Entity Tot	al:	\$4,308.86
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,308.86
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	875	1,392	3	2,270	\$2,837.50	\$57.20	\$2,780.30	0.70	\$1,946.21
							Entity Tot	al:	\$1,946.21
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,946.21
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	1,232	4,219	123	5,574	\$6,967.50	\$140.93	\$6,826.57	0.70	\$4,778.60
							Entity Tot	al:	\$4,778.60
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,778.60
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	921	2,681	37	3,639	\$4,548.75	\$99.33	\$4,449.42	0.70	\$3,114.59

							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,114.59
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	700	3,228	62	3,990	\$4,987.50	\$111.05	\$4,876.45	0.70	\$3,413.52
							Entity Tota	al:	\$3,413.52
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,413.52
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	602	869	1	1,472	\$1,840.00	\$47.12	\$1,792.88	0.70	\$1,255.02
							Entity Tota	al:	\$1,255.02
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,255.02
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	530	3,279	211	4,020	\$5,025.00	\$142.00	\$4,883.00	0.70	\$3,418.10
							Entity Tota	al:	\$3,418.10
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,418.10
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	2,373	5,421	61	7,855	\$9,818.75	\$198.69	\$9,620.06	0.70	\$6,734.04
							Entity Tota	al:	\$6,734.04
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,734.04
Hyde									

Entity Total:

\$3,114.59

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	571	1,094	13	1,678	\$2,097.50	\$42.57	\$2,054.93	0.70	\$1,438.45
							Entity Tota	al:	\$1,438.45
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,438.45
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	549	1,081	16	1,646	\$2,057.50	\$41.51	\$2,015.99	0.70	\$1,411.19
							Entity Tota	al:	\$1,411.19
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,411.19
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	703	1,441	32	2,176	\$2,720.00	\$54.61	\$2,665.39	0.70	\$1,865.77
							Entity Tota	al:	\$1,865.77
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,865.77
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	433	715	4	1,152	\$1,440.00	\$29.47	\$1,410.53	0.70	\$987.37
							Entity Tota	al:	\$987.37
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$987.37
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	802	4,085	298	5,185	\$6,481.25	\$151.86	\$6,329.39	0.70	\$4,430.57
							Entity Tota	al:	\$4,430.57
							Adjustmer	nt:	\$0.00

							Total Amo	unt:	\$4,430.57
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	2,150	9,437	187	11,774	\$14,717.50	\$326.49	\$14,391.01	0.70	\$10,073.71
							Entity Tota	al:	\$10,073.71
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$10,073.71
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	6,139	19,190	497	25,826	\$32,282.50	\$683.27	\$31,599.23	0.70	\$22,119.46
							Entity Tota	al:	\$22,119.46
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$22,119.46
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	3,074	26,744	1,969	31,787	\$39,733.75	\$880.02	\$38,853.73	0.70	\$27,197.61
							Entity Tota	al:	\$27,197.61
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$27,197.61
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	1,011	1,869	376	3,256	\$4,070.00	\$86.01	\$3,983.99	0.70	\$2,788.79
							Entity Tota	al:	\$2,788.79
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,788.79
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	1,274	3,135	90	4,499	\$5,623.75	\$124.90	\$5,498.85	0.70	\$3,849.20

							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,849.20
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	1,575	4,491	47	6,113	\$7,641.25	\$162.64	\$7,478.61	0.70	\$5,235.03
							Entity Tota	al:	\$5,235.03
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,235.03
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	830	1,648	4	2,482	\$3,102.50	\$75.27	\$3,027.23	0.70	\$2,119.06
							Entity Tota	al:	\$2,119.06
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,119.06
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	2,720	20,137	309	23,166	\$28,957.50	\$623.02	\$28,334.48	0.70	\$19,834.14
							Entity Tota	al:	\$19,834.14
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$19,834.14
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	499	801	3	1,303	\$1,628.75	\$33.42	\$1,595.33	0.70	\$1,116.73
							Entity Tota	al:	\$1,116.73
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,116.73
Miner									

Entity Total:

\$3,849.20

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	853	1,744	21	2,618	\$3,272.50	\$67.24	\$3,205.26	0.70	\$2,243.68
							Entity Tota	al:	\$2,243.68
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$2,243.68
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	32,646	164,056	8,004	204,706	\$255,882.50	\$5,614.38	\$250,268.12	0.70	\$175,187.68
							Entity Tota	al:	\$175,187.68
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$175,187.68
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	874	5,002	180	6,056	\$7,570.00	\$168.33	\$7,401.67	0.70	\$5,181.17
							Entity Tota	al:	\$5,181.17
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$5,181.17
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	19,901	90,241	3,324	113,466	\$141,832.50	\$3,058.61	\$138,773.89	0.70	\$97,141.72
							Entity Tota	al:	\$97,141.72
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$97,141.72
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	1,553	2,368	5	3,926	\$4,907.50	\$109.20	\$4,798.30	0.70	\$3,358.81
							Entity Tota	al:	\$3,358.81

	Adjustment:	\$0.00
	Total Amount:	\$3,358.81
Potter		

Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	930	1,992	10	2,932	\$3,665.00	\$73.74	\$3,591.26	0.70	\$2,513.88
							Entity Tota	al:	\$2,513.88
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,513.88
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	2,865	5,406	26	8,297	\$10,371.25	\$232.73	\$10,138.52	0.70	\$7,096.96
							Entity Tota	al:	\$7,096.96
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,096.96
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	682	1,848	22	2,552	\$3,190.00	\$66.80	\$3,123.20	0.70	\$2,186.24
							Entity Tota	al:	\$2,186.24
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,186.24
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	1,550	4,738	99	6,387	\$7,983.75	\$164.32	\$7,819.43	0.70	\$5,473.60
							Entity Tota	al:	\$5,473.60
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,473.60
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

5/2023	611	2,353	73	3,037	\$3,796.25	\$80.23	\$3,716.02	0.70	\$2,601.21
							Entity Tota	al:	\$2,601.21
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,601.21
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	520	1,247	4	1,771	\$2,213.75	\$44.24	\$2,169.51	0.70	\$1,518.66
							Entity Tota	al:	\$1,518.66
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,518.66
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	0	95	1	96	\$120.00	\$2.29	\$117.71	0.70	\$82.40
							Entity Tota	al:	\$82.40
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$82.40
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	1,923	4,191	38	6,152	\$7,690.00	\$156.21	\$7,533.79	0.70	\$5,273.65
							Entity Tota	al:	\$5,273.65
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,273.65
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	1,642	6,736	123	8,501	\$10,626.25	\$218.41	\$10,407.84	0.70	\$7,285.49
							Entity Tota	al:	\$7,285.49
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,285.49

Union

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	2,038	11,779	550	14,367	\$17,958.75	\$443.53	\$17,515.22	0.70	\$12,260.65
							Entity Tota	ıl:	\$12,260.65
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$12,260.65
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	1,502	3,779	461	5,742	\$7,177.50	\$145.32	\$7,032.18	0.70	\$4,922.53
							Entity Tota	l:	\$4,922.53
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$4,922.53
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2023	3,988	17,976	388	22,352	\$27,940.00	\$599.33	\$27,340.67	0.70	\$19,138.47
							Entity Tota	l:	\$19,138.47
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$19,138.47
TOTALS	167,742	661,964	27,952	857,658	\$1,072,072.50	\$23,214.03	\$1,048,858.47		